
 

INDIAN SCHOOL MUSCAT 

NAME OF THE 

EXAMINATION 

FIRST PERIODIC TEST CLASS:   IX 

DATE OF EXAMINATION 29-05-2022 SUBJECT: MATHEMATICS 

TYPE MARKING SCHEME- SET A  

 

SET- A Q.NO VALUE POINTS MARK 

 1 Any 4 (Correct) rational Numbers ½ Each  

 2 i) 0 = Rational Number 

ii) 8 - √5 = Irrational Number 

1 

1 

 3 Any 2 (Correct) Irrational Numbers 1 Each 

 4 Correct Number line 

Constructing Perpendicular 

Completing the Right Triangle 

Marking √5 on number line 

½ 

1 

1 

½ 

 5 x=0.23333……. 

10x=2.3333….. 

100x=23.3333…… 

90x=21 

x=21/90 

x=7/30 

½ 

½ 

½ 

½ 

½ 

½ 

 6 
𝑖)(9 + 8 − 1)

1

2 = (16)
1

2 = 4  

(𝑖𝑖)
2 × 2

−4
3

2
−10

3

= 2 × 22 = 8 

½+1+½ 

 

½+1+½ 

 



 7 (3 + 2√7)((2 + 3√7)

(2 − 3√7)(2 + 3√7)
= 𝑎 + 𝑏√7 

48 + 13√7

4 − 63
= 𝑎 + 𝑏√7 

−48

59
−

13

59
√7 = 𝑎 + 𝑏√7 

a= 
−48

59
, b=−

13

59
 

1 

 

1 

 

1 

1 
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FIRST PERIODIC TEST CLASS:   IX 

DATE OF EXAMINATION 29-05-2022 SUBJECT: MATHEMATICS 

TYPE MARKING SCHEME-SET B  

 

SET- B Q.NO VALUE POINTS MARK 

 1 Any 4 (Correct) rational Numbers ½ Each  

 2 iii) 0 = Rational Number 

iv) 7 - √2= Irrational Number 

1 

1 

 3 Any 2 (Correct) Irrational Numbers 1 Each 

 4 Correct Number line 

Constructing Perpendicular 

Completing the Right Triangle 

Marking √2 on number line 

½ 

1 

1 

½ 

 5 x=0.43333……. 

10x=4.3333….. 

½ 

½ 



100x=43.3333…… 

90x=39 

x=39/90 

x=13/30 

½ 

½ 

½ 

½ 

 6 
𝑖)(25 + 8 − 1)

1

5 = (32)
1

5 = 2  

(𝑖𝑖)
4 × 3−1

3−2
= 4 × 3 = 12 

½+1+½ 

 

½+1+½ 

 

 7 (3 − 2√5)((3 − 2√5)

(3 + 2√5)(3 − 2√5)
= 𝑎 + 𝑏√5 

29 − 12√5

9 − 20
= 𝑎 + 𝑏√5 

−29

11
+

12

11
√5 = 𝑎 + 𝑏√5 

a= 
−29

11
, b = 

12

11
 

1 

 

1 

 

1 

1 
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TYPE MARKING SCHEME-SET C  

 

SET- C Q.NO VALUE POINTS MARK 

 1 Any 4 (Correct) rational Numbers ½ Each  

 2 v) 0 = Rational Number 1 



vi) 9 -  √6 = Irrational Number 1 

 3 Any 2 (Correct) Irrational Numbers 1 Each 

 4 Correct Number line 

Constructing Perpendicular 

Completing the Right Triangle 

Marking √5 on number line 

½ 

1 

1 

½ 

 5 x=0.13333……. 

10x=1.3333….. 

100x=13.3333…… 

90x=12 

x=12/90 

x=2/15 

½ 

½ 

½ 

½ 

½ 

½ 

 6 
𝑖)(27 + 8 + 1)

1

2 = (36)
1

2 = 6  

(𝑖𝑖)
3 × 5−1

2
−10

3

=
3

5
× 2

10
3  

½+1+½ 

 

1+1 

 

 7 (5 + 2√3)((5 + 2√3)

(5 − 2√3)(5 + 2√3)
= 𝑎 − 𝑏√3 

37 + 20√3

13
= 𝑎 − 𝑏√3 

37

13
+

20

13
√3 = 𝑎 − 𝑏√3 

a=
37

13
, b=

−20

13
 

1 

 

1 

 

1 

1 

 

 


